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Section A: Simplify the following.
1) J6x2 5) J3x43 9) VaxJaxJ4
2) J20x+5 6) V4x16 10) V3x/6x43
3) TxAT 7} Jax5x+5 1) JBx+12x6
4) V2x72 8) J2xVAx42 12) V2x12x43
Section B: Simplify the following.
1) V3:43 5) J48+43 9) J4a8+8
2) Vi5:45 6) 54 +9 10) VB x+6++2
3) 842 | 7) V96412 1) J32x+10 + V5
4) V271 +V3 8) J72:V18 12) V24xy2++3
Section C: Without rationalizing the denominator, simplify the following.
1) 242x342 | J52 643 x 24/21
9 Y2 1) SR
2)  4/5x2J5 413 o7
3)  JEIx2T 10y 8% 15) 6Y8x2/40
343 35
4)  JB4x2J6
11 672 x /2 18)  (V11Y?
5)  5J2x410 ) 2
17)  (2V3)?
8)  3J11x599 J15 x 245
12) 7 18)  (5/3)?
7)  5J3x2J20 3
2
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Grade B
Progression: Medium

Simplifying Surds (B)

Section A: Simplify the following.

1) Jexy2 23
2) J20x+5 10
3) J7TxAT 7
4y J2x72 12

6)

7)

Section B: Simplify the following.

1) V3+43 1
2) J15+45 V3
3) J8+42 2
4) J27+43 3

5)
6)
7)
8)

ANSWIERS

J3x4/3 3
J4x+16 8
V4 x5 x5 10
V2xJax2 4

J48 =3 4
J54 +/9 6
JO6 +12 242
J72+J18 2

enroom!}

9) JaxJax4 8

10) 3 x/6x3 316
1) JBx12x./6 123
12)  V2x12x/3 642

9) J48:.8 B

10) J5x6++/2 15
11)  32x410+45 8
12) J24x42+43 4

Section C: Without rationalizing the denominator, simplify the following.

1) 242x3J2 12 J52 aJ§x2I1
9y = % 14) —ofr
2)  a5x245 40 413 9
3)  JE3x2J7 42 10 827 4 15) 6/8x2/40 .
3J_ B
4) J54x2.6 36 i Sy
_ BV2xV2 . 16) (V11" 11
5)  5v2x410 1045 M =502
17)  (2V/3)% 12
6)  3V11x5/99 495 S5 x2J8
12y ——F——10 18)  (5V3)% 765
Iqr 3
7)  5J3x2J20 20V15 V3
| 19) (37 +1)2 64 + 6v7
8) V108 6 13) Mg«jg
7 NE)
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